www.ersatzteil-service.de

www.ersatzteilplan.de

Tractor Chassis, PTO, Brake & Cutter Controls Cont.

orY ‘ ITEM PART NO. DESCRIPTION orY ‘

ITEM PART NO. DESCRIPTION orTY ‘ ITEM PART NO. DESCRIPTION

109 1200 %” UNF x 2/4” Bolt 1 144 7760 %” UNF x 4” HT Bolt 1

110 1978 %s” UNF x 2/4” Bolt 4

111 8220 Shouldered Spacer Jockey Pulley 2 Modified PTO Introduced July 1997

112 017-0802 %" TBL6 Washer 1 145 1273 %s” UNF Nyloc Nut 4

113 048-0820 M8 x 20 Set Bolt 1 146 3613 Washer %" (TBLS) 2

114 016-1601  M16 Washer 2 147 9571 Spacer 1

115 3463 Spring 1 148 1321 %s” UNF Bolt x 14" 1

116 3414 Switch Brake & Cutter Deck Safety 1 149 1105 %" Dia. Washer 8

117 2592 Chain Links as req. 150  048-0820 M8 Bolt x 20 1

118 1067 Washer 4BA 2 151 017-0802  Washer 1

119 2045 %s” Shake proof Washer 8 152 MXI1285  Pulley Key 1

120 9291 Support Bkt. 1 153 8337 Pulley 1

121 1156 Setscrew %" UNF x %” 1 154 016-1601  Washer 2

122 1331 Washer %” Dia. (T3L) 3 155 3229 Bearing 2

123 1270 %" UNF Nyloc Nut 2 156 9572 Spacer 1

124 3233 Retaining Strip (Plated) 1 157 1982 %s” UNF x %” Setscrew 4

125 8732 Rubber Flap 1 158 9567 PTO Bearing Housing 1

126 1734 2BA x 4" Screws Pozi-Pan Hd. 5 159 084-08 8mm Nyloc Nut 1

127 1053 2BA Nyloc Nuts 6 160 9573 Stop 1

128 1962 Washer 2BA 10 161 029-0840 M8 Bolt 8 x 40 1

129 4098 Pop Rivets 12 162 9569 PTO Pulley Assembly 1

130 8720 Spring 1 163 1200 %” UNF Bolt x 2/ 1

131 4105 %” UNF x 1” Bolt 1 164 011-1001 ~ Washer 1

132 1978 %s” UNF x 2/4” HT Set Bolt 4 165 8232 Jockey Plate 1

133 1735 2BA x %” Screw 1 166 2847 Washer Jockey Pulley 2

134 3329 Spacer 1 167 8340 Spacer 1

135 9302 Hanger Bkt. L.H. 1 168 5822 Pulley 1
* 9303 Hanger Bkt. R.H. 1 169 1324 %” UNF Nyloc Nut 1

136 9304 Hanger Bkt. Front 2

137 6213 Set Screw M10 x 50 4

138 013-1001  Washer M10 Shakeproof 12

139 6116 Nut M10 8

140 2761 Nut M10 Nyloc 8

141 5850 Set Screw M10 x 25 4

142 6124 Washer M10 16

143 048-1035  Set Screw M10 X 35 4

H E B EST

O F

B RITTISH

Page 140

ENGINEEIRTINSG

Ihr Ersatzteilspezialist im Internet





